Problem 1. (17pts)

\ Q)(j a) Find parametric equations for the line through the point (4,2,6) that is
perpendicular to the plane
x—-y+z=1T,

and find the points where the line intersects the coordinate planes.

The \\'ne 'chu: e:\'\'vq,cjl—rw Vedor X w: AA:O_—_Q

Z@*}W‘n«& PMMJ;:L %: Yl , X: lo) 2: g .
ep\,u,o\_'b\‘wvv: ’% '\’Q\‘e, &4\«2, aveg L,‘ob«,\«t {s (m)D)?)
| = 3- .6+t e
Xz hr2¥. \,'a;v.’g-j 5 OF . ¢ o
A'w Aph Ap X é.}—?/tame. : = =
’Ln\'uﬁacj'm x4 1 C,onA.iwp.tc,'FQ::\;a . e
y - e L. e ljfrT3 T3
’ - =D = == .
y 5 : amz. -Z‘—O' \ . -?:_“' Lﬁ- ) —We/ Fmb\t—
7(’—"‘“'17 g:X.T‘\e\om:t\s - = 3
s (p, 12, 18
92,?)5 ( =1L, g, ©) 'S k( 4 3)
Zq?;

A ?)c s b) If 6 is the angle between the planes‘
3(x—1)-2(y—5)+2(z+1)=0, and 2x+5(y - 1)+ (z+4)=0,

find the value of 4sec?6
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Problem 2. (17pts)

G @SV} a) Find an equation of the plane that contains the line
x=10+4t, y =9 - 5t, z2=1%

and is perpendicular to the plane 3x + 2y — 2z = 7.
ek A=< 1,-5,1> auwd W= <3 ,<,-2>.

A \r\@YMc\,Q,- \/C/(J:ov .7‘?0 q&b QQ/Q/MC/ N4 a{v.e,../ ]7‘}

;ZX—V?: tl_g‘% :<X;5, 13>
3 2 -2

\r(lO_lvﬂ‘ o) s & p rink v ok q»quch Heuwer ,
e @’Y.A—oi»-m »ﬁ {’Ezz, dew 'S i
g(x-10) + 5(4-1)+ 13 (2-0) = 0 &

gX + 54w +\F 2= 125
\p—//&\//’é/’}

(05

Wyp's b) Identify and sketch the surface given by
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Problem 3. (16pts)

X .
% a) Show that the function
/ f(x )—{ i_g%y?l if (x,y) # (0,0)

Ll W if (x,y) = (0,0) :

is not continuous at (0,0)
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Problem 4. (17pts)

A Q\) a) Find and sketch the domain of the function
=v/2x+yln(y — x).
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23:;' 2F _ 7
AF»\— —> """ "32’) [‘V) ()(+2‘)]4’—‘> Y 7
oz 17 (ﬁ%) = 2 ( n(v+2) Jo
2 *5 f‘7A$ 9——2—- = ,JT_QRS——« &) /L(a 8892‘
¥ '?X X + 2 i““éﬁ‘z ) I
2. 1422 o | P Xty
g (x+2) 2 ox 2Pt 52 _ 0%
V=1 & 2 (x+2) + g2 20 ’5’9— N
dr —» 22 (4 (x+2)-10= 1 € e
2% (|_gx—jz)— Z2X+2 &
¢l — = 2%+
‘ i 2 X X4+42-) oz _ = e
T | — %X——“&‘)%



Problem 5. (16pts)

7v* a) Find an equation of the tangent plane to the surface
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Problem 6. (17pts)

. . a) Find all second partial derivatives of
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